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Math-ENGLISH-Prepl-TR1-T-W12 (1)

What is the number of axes of symmetry of the square?

If the point A(k + 3,4k + 8) lies on the X- axis, then calculate the value of k.
Determine the quadrant where the point (4, —2) lies.

What is the projection of the point (—5, 3) on the X- axis.

If D(—4,3) is the midpoint of AB where: A(—1,y), B(x,—3), find the value of each
ofx,y.

Math-ENGLISH-Prepl-TR1-T-W12 (2)

What is the number of axes of symmetry of the rectangle?

If the point A(3k — 6,4k + 8) lies on the Y- axis, then calculate the value of k.
Determine the quadrant where the point (—4 ,—2) lies.

What is the projection of the point (—3,1) on the Y- axis.

If D(—2,1) is the midpoint of AB where: A(—3,y) , B(x,—3), find the value of each
ofx,y.

Math-ENGLISH-Prepl-TR1-T-W12 (3)

What is the number of axes of symmetry of the parallelogram?

If the point A(k + 3,2k — 2) lies on the Y- axis, then calculate the value of k.
Determine the quadrant where the point (4 ,1) lies.

What is the projection of the point (—1, 0) on the X- axis.

If D(—5,0) is the midpoint of AB where: A(—3,y), B(x,—6), find the value of each
ofx,y.
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